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Create ROBDD for Z = ITE(f, g, h)
==> Create ROBDD for Z = fg + f’h
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h=Dd0

Z = ITE(f, g, h)

a

ITE(f     g     h     ) ITE(f     g     h     )v’ v’ v’ v v v

f = a; g = b; h = 0 and v = a

ITE(f     g     h     )v’ v’ v’ = ITE(a      b       0      )a’ a’ a’ = ITE(     ,      ,       )
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f=a

g=b

h=Dd0

Z = ITE(f, g, h)

a

ITE(f     g     h     ) = bv v v

f = a; g = b; h = 0 and v = a

b

0 1

index(b) = order = 1

Dd0 Dd1

Key= {low(v), v, high(v)} = {Dd0, b, Dd1}
Key(g) = {                       }


